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1. Five people are sitting in a row facing you. Y
is at the left of X, W is sitting at the right of
Z. V is sitting at the right of X and W is sitting
at the left of Y. If Z is sitting at one end who
is in the middle?

5   Y, X
 W, Z  V, X  

W, Y  Z 

(a) V    (b) X    (c) Y    (d) Z

(e) None of these/buesa ls dksbZ ugha
2. Of the six members of a panel sitting in a

row. E is to the left of B, But on the right of A.
F is on the right of B but is on the left of G
who is to the left of C. Find the members
sitting right in the middle.

E, B 
A  F, B   G 

C 

(a) A E (b) B F

(c) G C (d) F G

(e) None of these/buesa ls dksbZ ugha
3. Five students are sitting in a row. T is on

the right of Z, M is on the left of Z but M is on
the right of L, T is on the left of Q who is

E$������

sitting first from the left?

 T, Z  M, Z 
  M, L  T, Q 

(a)  Z (b) Q

(c) T (d) L

(e) None of these/buesa ls dksbZ ugha
4. At a college party five girls are sitting in a

row. P is to the left of M and to right of O. R is
sitting to the right of N, but to left of O. Who
is sitting in the middle?

P, M  O  R, N 
O 

(a) O (b) R

(c) P (d) M

(e) None of these/buesa ls dksbZ ugha
5. Five birds are sitting on a tree. The Pigeon

is to the right of the Parrot. The Sparrow is
above the Parrot. The Crow is next to the
Pigeon. The Crane is below the Crow. Which
bird is at the centre?
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vO;ofLFkr O;fDr;ksaa] O;kolkf;;ksa] f[kykfM+;ksa] oLrqvkas rFkk

lwpukvksa dks fu;fer <ax ls ,d fuf'pr Øe esaa O;ofLFkr djus dh

fof/k dks ^cSBd O;oLFkk* dgk tkrk gSA bl izdkj ds iz'uksa esa dqN

O;fDr;ksa] oLrqvksa ds lewg fn, x, gksrs gSa rFkk mudk LFkku Hkh fn;k

tkrk gSA fdlh O;fDr ;k oLrq dk LFkku nwljs O;fDr ;k oLrq ds lkis{k

nkb± vksj rFkk ckb± vksj ls Kkr dj ldrs gSaA

cSBd O;oLFkk ls lEcfU/kr iz'uksa ds izdkj

izdkj& 1 % o`Ùkkdkj js[kk ;k est ij cSBus ds Øe ij

vkèkkfjr

izdkj& 2 % lh/kh js[kk esas cSBus ds Øe ij vk/kkfjr

izdkj& 3 %  oxkZdkj est ij cSBus ds Øe ij vkèkkfjr

izdkj& 4 %  lekukUrj iafDr;kaas esa cSBus ds Øe ij vkèkkfjr

The method of arranging disorganized persons,
businessmen, sportsmen, objects and information
in a certain order in a regular manner is called
'meeting arrangement'. In this type of questions
some individuals, groups of things are given and
their place is also given. You can find the location
of a person or object relative to another person or
object from the right and left.

Types of questions related to the meeting
arrangement
Type- 1 : Depending on the order of sitting in

a circular line or table
Type-2 : Based on the order of sitting in a

straight line
Type-3 : Based on the order of sitting in a

square table.
Type-4 : Based on the seating order in

parallel rows
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(a) Crow/ (b) Pigeon/

(c) Parrot/ (d) Sparrow/

(e) None of these/buesa ls dksbZ ugha
6. Six friends A, B, C , D, E and F are sitting in a

row facing East. 'C' is between 'A' and 'E'. 'B' is
just to the right of 'E' but left of 'D'.  'F' is not at
the right end. Who is between 'B' and 'C'?

 A, B, C , D, E  F 
 C, A  E B, E 

D F, 
B C 

(a) A (b) D

(c) E (d) F

(e) None of these/buesa ls dksbZ ugha
7. Six friends A, B, C , D and E are sitting in a

row facing East. C is between A and E. B is
just to the right of E but left of D. F is not at
the right end. Who is at the left end?

 A, B, C , D,  E 
 C, A  E B, E 

D F, 

(a) A (b) F

(c) C (d) B

(e) None of these/buesa ls dksbZ ugha
8. Six friends A, B, C, D, E and F are sitting in a

row facing East. C is between A and E. B is
just to the right of E but left of D, F is not at
the right end. Who is at the right end?

 A, B, C , D, E  F 
 C, A  E B, E 

D F, 

(a) D (b) B

(c) E (d) C

(e) None of these/buesa ls dksbZ ugha
9. Six friends A, B, C, D, E and F are sitting in a

row facing East. C is between A and E. B is
just to the right of E but left of D.F is not at
the right end. Who is to the left of A?

 A, B, C , D, E  F 
 C, A  E B, E 

D F, 
A 

(a) E (b) C

(c) D (d) F

(e) None of these/buesa ls dksbZ ugha
10. Six friends A, B, C, D, E and F are sitting in a

row facing East. C is between 'A' and 'E'. 'B' is
just to the right of 'E' but left of 'D'. 'F' is not
at the right end. How many person are to the
right of 'E'?

 A, B, C , D, E  F 
 C, A  E B, E 

D F, 
E 

(a) 1 (b) 2

(c) 3 (d) 4

(e) None of these/buesa ls dksbZ ugha

Section-02

Directions (1-5): Study the followinginformation

carefully and answer the questions given below:

V, W, X, Y, Z, A, B, C, D and E are sitting in
two parallel rows I and II containing five persons
each. All the persons of the first row are facing
south and the persons of the second row are facing
north. Y is third to the right of V and sits exactly
opposite B. X is not an immediate neighbour of A,
but sits second to the left of Y. W sits on the
immediate right of B and is facing south. C is third
to the right of W and is exactly opposite A. D sits
opposite X and Z is not the neighbour of C.
1. Which of the following pair members are not

in the same row?
1) V, Z 2) Y, Z 3) D, W
4) E, B 5) None of these

2. Who among the following sits exactly opposite
E?
1) X 2) Y 3) V
4) C 5) None of these

3. What is the position of E with respect to W?
1) Second to the right 2) Third to the right
3) Fourth to the left 4 )
Immediate left
5) None of these

4. Four of the following five are alike in a certain
way based on the given arrangement and thus
form a group. Which is the one that does not
belong to that group?
1) C 2) Z 3) B
4) Y 5) A

5. Which of the following statements is/are true?
1) C sits second to the left of E.
2) Y is third to the right of A.
3) Both C and B sit in the same row.
4) E sits in the middle of the first row.
5) All are true
Directions (6-10): Read the information
carefully and answer the given question:

Ten people are sitting in two parallel rows
containing five people each in such a way that
there is equal distance between adjacent person.
In row 1-H, I, J, K and L are seated and all of them
are facing south and in row 2-R, S, T, U and V are
seated and are facing north (but not necessarily
in the same order). One seat in each row is
Vacant. In the given seating arrangement each
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person seated in a row faces another member of
the other row. Each of them belongs to a different
country viz, USA, UK, Thailand, Myanmar,
Bhutan, Singapore, Dubai, China, Japan and
Netherlands but not necessarily in the same
order.

U sits second to the right of T and belongs
to Myanmar. Only two persons sit between S and
the vacant seat. S belongs neither to Bhutan nor
to Thailand. L is not an immediate neighbor of J.
I belongs to Netherlands. The one who belongs to
Thailand faces the one who belongs to China. The
one belongs to Thailand faces to one who sits
second to the right of the one who faces U. J and
K are not immediate neighbors. V, who belongs
neither to Bhutan nor to Singapore, does not faces
the vacant seat. K faces T. The vacant seat does
not face each other. The vacant seat of row-1 is
not beside K. T belongs neither to USA nor to
China. Either T or U sits at an extreme end. R
sits at one of the extreme ends. The one who
belongs to USA and the one who belongs to China
are immediate neighbours. The vacant seat of
row-1 is not at the extreme end. I sits second to
the right of H, who belongs to Japan. The one who
belongs to UK faces the one who sits on the
immediate right of the one who belongs to Dubai.
The one who belongs to Singapore and the one
who belongs to Dubai do not face each other. The
vacant seat of row-2 is not beside T. J does not
belong to UK.
6. Which of the following statements is true?

1)L belongs to USA and faces north
2)Only one person sits between U and the one
belongs to Thailand.
3)T and V are immediate neighbours.
4) The one who belongs to Dubai faces R.
5) None of these

7. K is related to the one who belongs to
Netherlands. In the same way, T is related to
the one who belongs to UK. So, following the
same pattern, the vacant seat of row-1 related
to which of the following?
1)The one who belongs to China
2) The one who belongs to Bhutan
3) The one who belongs to Japan
4) The one who belongs to USA
5) None of these

8. Four of the following five are alike in a
certain way based on the given arrangement
and thus form a group. Which is the one that
does not belong to that group?
1)K – Bhutan 2) L-Vacant 3 ) I -
Myanmar
4)V-Vacant 5)H-Singapore

9. Who among the following belong to USA?
1)The one who sits on the immediate left of
the one who belongs to China
2)The one who sits second to the right of J.
3) The one who faces U.
4) The one who faces the vacant seat of row-2
5) None of these

10. Who among the following represent the
immediate neighbours of the vacant seat of
row-2?
1)U, V 2)S, T 3)U, R
4)V, R 5)R, T

Direction (11-14): Study the following 
information carefully and answer the given 
questions.
A, B, H, K, M, P, R and S are eight team heads and 
are sitting around a square table in such a way 
that four of them sit at four corners of the square 
and face the centre while four sit in the middle of 
each of the four sides and face outward. B does 
not sit at any of the corners but sits second to the 
right of S. M sits third to the right of P. P is not an 
immediate neighbour of S. R and K are immediate 
neighbours of each other but R does not sit at any 
of the corners of the table. H is an immediate 
neighbour of neither P nor S.
11. What is the position of P with respect to

M?
1) Immediate left 2) Third to the Tight
3) Second to the left 4) third to the left
5) None of these

12. Who among the following sits second to the
right of K?
1) M 2) B 3) A
4) S 5) H

13. Who among the following are the
immediate neighbours of H?
1) M, K 2)B, R 3)B, M
4)A, R 5)A, K

14. Who among the following sit(s) exactly
between P and A?
1) Only B 2) K and R
3) Only H 4) K and M
5) No one sits between P and A

Directions (15-21): Study the following 
information carefully and answer the given 
questions.
A, B, C, D, E, F, G and H are sitting around a square 
table in such a way that four of them sit at four 
corners of the square while four sit in the middle 
of each of the four sides. The ones who sit at the 
four corners face the centre of the table while 
those who sit in the middle of the sides face 
outside. Each of them likes a different subject, 
viz Mathematics, Hindi, English, Biology, 
Chemistry, Physics, History and Geography. (None
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of the information given is necessarily in the
same order.)
· C sits third to the left of the one who likes

Geography. The one who like Geography faces
outside. Only two persons sit between C and
H.

· The one who likes Mathematics sits on
the immediate right of H. The one who likes
Chemistry sits second to the right of G. G is
neither an immediate neighbour of H nor of
C. G does not like Geography.

· Only one person sits between A and the
one who likes Chemistry.

· D sits on the immediate left of the one
who likes Physics. G does not like Physics.

· E likes History. E is not an immediate
neighbour of A.

· The one who likes Hindi is an immediate
neighbour of E

· The one who likes Biology is an immediate
neighbour of F.

15. Who amongst the following sits diagonally
opposite the one who likes Mathematics?
1) The one who likes Hindi
2) D 3)A
4) The one who likes English
5) The one who likes Biology

16. Who among the following represent the
immediate neighbours of the one who likes
Chemistry?
1) B, F 2)C, E 3)B, E
4)D, F 5)F, H

17. Who among the following sits exactly
between H and B?
1)C
2) The one who likes Hindi
3) The one who likes English
4)G 5)A

18. Which of the following is true regarding
B?
1) B is one of the immediate neighbours of D.
2) The one who likes Geography is an
immediate neighbour of B.
3) B sits second to the left of H.
4) B likes History.
5) B is an immediate neighbour of the one
who likes Mathematics.

19. What is the position of the one who likes
Physics with respect to G?
1) Second to the left 2) Third to the right
3) Fourth to the left 4) Second to the

right
5) Third to the left

20. Which of the following subjects does D
like?
1) Biology 2) Mathematics
3) Hindi 4) Chemistry

5) English
21. Who among the following likes Geography?

1)B 2)F 3)H
4)A 5)D

Directions (22-26): Study the following 
information carefully to answer the given 
questions.
Eight persons P, Q, R, S, T, U, V and W are sitting 
around a circular table. Each of them belongs to a 
different profession, viz Doctor, Banker, Engineer, 
Lawyer, Businessman, Teacher, Pharmacist and 
Writer, but not necessarily in the same order. 
Four of the persons are facing towards the centre 
while the remaining four are facing away from 
the centre.
S is third to the right of W. The one who is a 
Businessman is on the immediate left of S, who 
is not a Pharmacist. V is fourth to the left of U. 
Neither V nor U is an immediate neighbour of S. 
P is a Writer and sits third to the left of the 
Businessman. The person who is a Banker sits 
second to the left of the person who is a Writer. 
The person who is a Doctor sits second to the right 
of S. R is an Engineer and sits exactly between P 
and U. The person who is a Teacher sits second 
to the right of the person who is an Engineer. T 
sits third to the left of P. R is facing the centre 
and is to the right of both P and U.
22. The person who sits between T and Q

belongs to which of the following professions?
1) Pharmacist 2) Teacher 3 )
Businessman 4) Lawyer 5) None of
these

23. Who is a Banker?
1)R 2)V 3)T
4)Q 5) None of these

24. U is a(n)
1) Doctor 2) Writer 3 )

Pharmacist
4) Engineer 5) None of these

25. Who is a Pharmacist?
1)Q 2)V 3)S
4) W 5) None of these

26. Which of the following combinations is
correct?
1) Q — Writer 2) S — Pharmacist
3) P — Engineer 4) R- Businessman
5) Q — Teacher

Directions (27-32): Study the following 
information carefully and answer the questions 
given below:

Eight persons- P, Q, R, S, T, U, V and W are
sitting around a circular table at equal distance
between each other., facing the centre, but not
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necessarily in the same order. Each of them
belongs to a different profession, viz, Manager,
Engineer, Chef, Pilot, Lawyer, Doctor, Architect
and Teacher but not necessarily in the same
order.

V sits second to the right of the Manager.
The Pilot and the Engineer are immediate
neighbours of V. R sits second to the right of T,
who is a Lawyer. T is an immediate neighbor of
the Pilot. Only one person sits between U and W.
S sits third to the left of T. P sits exactly between
U and S. The Architect sits second to the left of P.
The Chef and the Teacher are immediate
neighbor of the Architect. W is not a Teacher.
27. Who among the following is a Doctor?

1)R 2) V
3) Other than the given options
4) W 5) P

28. Who sits exactly between R and the
Manager, when counted from the right of R?
1)W 2) T 3) Q 4) S 5) U

29. Which of the following statement is not
true as per     the given information?
1)W is a Chef.
2) P and V are immediate neighbours of S.
3) All the given statements are true.
4) Only three persons sit between U and Q.
5) S is an Engineer

30. Four of the following five are alike in a
certain way and so form a group. Which is the
one that does not belong to the group?
1)SU 2) RW 3) TQ
4) PU 5) VS

31. Who sits second to the right of Q?
1)S 2) p
3) Other than the given options
4) W 5) U

32. If all the persons are made to sit in the
alphabetical order in clockwise direction
starting from P, the position of how many of
them remain unchanged (excluding P)?
1)Three 2) One 3) Two
4) Four 5) None

Directions (33-38): Study the following 
information carefully and answer the question 
given below:

P, Q, R, S, T, U, V and W are sitting
around a circular table facing the centre, but not
necessarily in the same order. The husband of V
is second to the right of Q, who sits between two
males. T sits second to the left of the daughter of
S, T is sister of U, but is not the immediate
neighbor of V’s husband. Only one person sits
between P a nd T. P is father of U. S, who is brother
of V sits on the immediate left of his mother. Only

one person sits between V’ is mother and W. Only
one person sits between V and U. U is mother of R
and is not an immediate neighbor of W.
33. Which of the following statements is ture

with respect to the given arrangement?
1) Q is mother of V
2) No female is an immediate neighbor of S.
3) V sits third to the left of her daughter.
4) R sits third to the right of T.
5) None of these

34. Who among the following sits on the
immediate left of R?
1) U’s sister 2) P
3) T’s maternal grandmother4) Can’t be
determined
5) None of these

35. Who among the following in daughter of
S?
1) W 2) R 3) T
4) Can’t be determined 5) None of
these

36. What is the position of P with respect to
his grandson?
1) Third to the left 2) Immediate right
3) Third to the right 4) Second to
the left
5) None of these

37. How many persons sit between U and his
uncle?
1) How 2) Four 3) Three
4) One 5) None of these

38. Four of the following five are alike in a
certain way and hence of a group. Which is
the one that does not belong to that group?
1) W 2) U 3) V
4) T 5) R




